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EHEEE  h= (4.09+2.62)/2=3.355m
[11700mm X 15007 3% T
RIRIER 6.380 = 6.380 m
BEEPRE  1.050(LRIVk—I)+1.710(FRIvk—Ib) = 2.760 m
T+ 4y
(1.78+ 0.31)x 1/2 = 1.045 m
YEEIZE 1.045 + 1.840 + 0.470 = 3.355 m
JEHIE & 6.380 = 6.380 m
HFER 6.380 = 6.380 m




H_H g ¢ K& O FH A % &

1. Ay 7 2 g T (1700 X 1500 X 2000mm, X573 @1. 25<B=2. 5m, 1. 25m<H=2. 50m)

1—1. RNy 7 ARHIEE = 6. 380 m
ikt 6.38-2.76 = 3.620 m
1—2. Ry 7 2K
N= 1700 X 1500 X 2000 : F&¥%E = 1 1
N= 1700 X 1500 X 803 : 45 R = 1 1
N= 1700 X 1500 X 802 : 4R = 1 1
1—3. Ay AR
FEAIE R 6. 380 = 6. 380 m
27 U— F|18N/mm2  t=20cm
V= 2. 880X 0. 200X 6. 380 = 3.67 m3
AP T | B4,
S= 6. 380X 0. 200X 2 = 2. 55 m2
Wi JERE |RC-40, t=0. 25m
S= 2. 980 6. 380 = 19. 01 m2

VIV BEA1:3t=0. 02m

V= 2.780X6.380X0. 02 = 0. 35 m3




(2)

H H B X K N E K % B
2. +T
2—1. #REIL Ny 7 3 T HEAN0. 80m3
V= (3. 00+5.013) /2 X 3. 355X 6. 38 85. 76 m3
m3,/m
85. 76 m3
2—2. HELTL (41
PR 1 V= (3. 00+5. 013) /2X 3. 355X6. 38 85. 76 m3
YERRAR v 7 R V= 2. 780X 6. 380X 1. 840 -32. 63 m3
PERR A7) - V= 2. 880X 6. 380X 0. 200 -3.67 m3
PERR LR V= 2.980 X 6. 380X 0. 250 -4, 75 m3
PERE L X L V= 2. 780 X 6. 380 X< 0. 020 -0. 35 m3
44. 36 m3
2 —3. TWEmRT
B - T MR +E8/0.9
V=144.36 + 0.9 49. 29 m3
B A E R V= 85.76 85. 76 m3
2 — 4. FEAm
V= 85. 76-49. 29 36. 47 m3




4)

H H B X K N E K B &=
4. fHHET
4— 2. FHEKT FBEH 1. 524 X 6. 096m t=22mm
95 X Gl S=1.5X6.0X30 270. 00 m2
K N= 30 ¥
i W= 30X 1.604 48.12 t
AT V=10.8X128 102. 4 m3
o i 3 A=1.6X128 204. 8 m2
4—3. EELOKEL
T5EE T A= 1 m2
KRR V7 1=
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N= 3000 X 2000 X 1700 : HEpE7T ny)
N= 3000 X 2000 X 1700 : K#i£7 ny)
N= 1700X 1500 X 802 : 4 R

N= wvh-VEkE ¢ 600, T-14

N= vv/i-ViH%&4: 2. 25mm

N= AFLH L ¢ 600

N= #£7L2400 X 1100

N= #£7L1700 X 1500

N= £%FL.800 X 800

N= %" 9/ ahWn" =1800 X 800, T-14

— VIR T
FLR IR 2. 80X 3. 62
18N/mm2 t=17cm

V=10. 136 X0. 17

®Lavy)-p

w2
1

(2.80X2+3.62X2) X0.17
RC-40, t=0. 20m

S=
Al &1:3t=0. 02m

V=10. 136 X0. 02

bt

N e e e e e

10. 136 m2

1.72 m3

2.18 m2

10. 14 m2

0.20 m3




(2)

H H X K O E K 0 B
2. +T
2—1. #EEIL Ny 7 3 T HEAN0. 80m3
V= 17.9X 3. 62 64. 80 m3
64. 80 m3
2—2. HELTL G4+
PR 1 V=8.0X3.62 28.96 m3
28.96 m3
2 —3. TWERT
B - T MR +E8/0.9
V=28.96 =+ 0.9 32.18 m3
¥ E R V= 64.80 64. 80 m3
2 — 4. FEAm
V= 64.80-32. 18 32. 62 m3
3—1. &Sz VU—Fh
18N V= ((2. 6+2. 6+4. 02) %2. 38-2. 78%1. 52-2. 0%1. 84
~1. 04%1. 04) *0. 30 3.89 m3
3—2. BT
FlilSin S= (2. 6+2. 6+4. 02) *2. 38-2. 78%1. 52-2. 0%1. 84
—1. 04%1. 04 13. 00 m2




BoxAfigx 1100 X 1100mm
CBF1 AN L=49. 832m>
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[J1100mm x 1100%1 5% T
HRRER = 27560 m
hRERE = 1.250 m
HEIBERE = 0.250 m
T H%Y = 1.835 m2
RHIE = 3565 m
HREE 27560 - 1.250 = 26.310 m
RHIER 27560 - 0.250 = 27.310 m
HBER 27560 - 0.250 = 27310 m



HOH e B & O H K &
1. Ry r 24T (1100 X 1100 X 2000mm, [X43D0<B=1. 25m, 0=H=1. 25m)
1—1. Ay 7 ABHIER = 27.560 m
R I = 26.310 m
PEH IR = 27.310 m
1—2. By 7 A%k
N= 1100X 1100X 2005 : &% (A AH{ A AH) = 9 {i
N=1100X1100X 2005 : FEHETA/RBI 0 (4 A H A 24 = 1 1
N= 1100 X 1100859 : #IR (A A M2 2 F) = 1 &
N=1100X1100X 1005 : R (FAF A AME) = 1 1
N= 1100X 1100X 1099 : £H) (A AHF A A %K) = 2 {
N=1100X 1100X 1099 : £H) (A A% X 24) = 2 {
1—3. Ry AT
S R = 27.310 m
a7 U— K|18N/mm2 t=15cm
V=1.560X0. 150X 27. 310 = 6. 39 m3
TP T M A7
S=27.310X0. 150 X 2+1. 560 X 0. 150 = 8. 43 m2
FeA7 g [RC-40, £=0. 20m
S=1.560 % 27. 310 = 42. 60 m2
BV L |l A1:3t=0. 02m
V= 1. 360X 27. 310X0. 02 = 0.74 m3




(2)

H H 1S K O EH K % B
2. +T
2—1. #REIL Ny 7 3 T HEAN0. 80m3
V= 2.490X 3. 565 X 27. 310 = 242. 43 m3
FRERRAS [E] 18 A 2k V= 2.490X0. 150X 27. 310 = -10. 20 m3
&t 232. 230 m3
2—2. HELTL (341
PR 1 = = 232.23 m3
YERAR v 7 R V= 1.360X 1. 360 X27. 310 = -50. 51 m3
PERR A7) - V= 1.560X27. 310X 0. 150 = -6. 39 m3
PERR LR V= 1. 560X 27. 310X 0. 200 = -8. 52 m3
PERE L X L V= 1. 360X 27. 310X 0. 020 = -0.74 m3
PERRAS [E & V= 2.490X0. 450X 27. 310 = -30. 60 m3
7 135. 47 m3
2 —3. TWEmRT
B - T HE+E/0.9
V=135.47 = 0.9 = 150. 52 m3
¥ E M V= 232.23 = 232.23 m3
2 — 4. FEu
V= 232. 23-150. 52 = 81.71 m3
3. WL
AL T (H=4. 0) = 27.310 m
HFES= 3. 565m X 2f&FT X 27. 310 = 194. 72 m2
B EEw= 32.700+30.0X27.31 = 29.77 t
TR ARIK ¢ 15em
FHIN= 27.310+3. 00 9.1 10 {&EFT
T HIN= 10X 2 = REER
L= 0. 400m/2< X 20{@& At = 8.00 m
V=18.00%0.15 " 2X3.14/4 = 0.14 m3
Sty W= = 20.77 t
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HOH e X K O L B &
6. ELT
6 — 1. EZE0mr T t=20cmL T
[E5EH 15eml= 27. 310 X 2 54.62 m
54.62 m
6 — 2. 3L E BRI DA T
t|:15cmuT 2.49X27. 310 68. 00 m2
6 — 3. 47051
[EE B 15cmV= 68. 00 X 0. 150 10.20 m3
10.20 m3
6 — 4. &g T [ASHIAI20
[EEH 5emS= 68. 00 m2
68. 00 m2
6 — 5. BJEEAET. RC-40
ia‘lﬁ[ﬁ 45cmS= 68. 00 m2
7. AT
AAL R ER
JEHI TS > 7 8 v 40, 80m3
V= 4.20X0.50X120. 0 252. 00 m3
i 1 T V= 252. 00 m3
e T |ASHLKZ20
5emS= 4. 20 X 120. 0 504. 00 m2
g 8% T.[RC-40
45emS= 4. 20X 120. 0 504. 00 m2
EHEEE PR A FEDA T
t|:15cmuT 504. 00 m2
Y U
5emV= 504. 00 X 0. 050 25.20 m3




3. EHRENEOEH  H = 4.00 m
ANLES | AL IR E R P REIE
IR 5 kWi LS ERO@ @=0@+@)/2 ®=0X® A2
T ¥ @ T i ® (m) (m2)
3.030
7.114 3.440 3.235 23.014
3.440
5.208 3.710 3.575 18.619
3.710
15.238 3.720 3.715 56.609
G = 98.242
L1= 27.560 m HNESEEHEEE:HO
A E 12 = mHO=XB® 1= 98.242 + 27.560 = 3.565 m
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